1. Hundred Years War was fought during 1337-1453
between

(A) Russia-England (B) Russia-France
(C) England-France (D) England-America

2. The most abundant of all the cells in blood are

(A) Neutrophils (B) Erythrocytes

(C) Thrombocytes (D) Leucocytes

% i e sailing in the sea on the two
X i 1housergThe angle of elevation

ides of a ligh r
(S)lf f}feoto; 01 the lighthouse Is obgervednt_:roi:le‘l
the ships are 30° and 45° res ectively. If €
lighthouse is 100 m high, the distance etween
the two ships is

m 9t

(C) 273 m D) @%%E:

In visual representation of a painting Germania
wears a crown of Oak leaves, as the German

Oak stands for
(A) Rich heritage (B) Diversity
(C) Heroism (D) Patriotism

5. Four ladies A, B, C and D and Four gentlemen
E, F, G and H are sitting in a circle around
a table facing each other. No two ladies or
gentlemen are sitting side by side. C who
is sitting between G and E is facing D. F is
between D and A and facing G. H is to the
right of B. Who is sitting left of A ?

(B) H
(D) F

(A) E
©) G

6. Three unbiased coins are tossed. What is the
probability of getting atmost two heads ?

OF' B) 1
8 4
©) 3 3
8 (D) r

v
:he power f’f accommodation of the eye usually
ecreases with ageing, This condition is called as

(A) Astigmatism

(B) Myopi
©) Hypermetropia yopia

X25 (D) Presbyopi a
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11.

12.
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Haryana had only police range/s
when it separated from Punjab.

(A) Six (B) Zero

(C) Two (D) One

The name of the customs union formed in 1834
at the initiative of Prussia and joined by most
of the German States is

(A) Zollverein (B) National Assembly

(C) National Guards (D) Estate General

A batsman scored 110 runs which included
3 boundaries and 8 sixes. What percent of his
total score did he make by running between the
wickets ?

(A) 55% B) 54-1-6—1%
(©) 45% D) 4515—1%

Rama ranks 16" from the top and 15" from the
bottom in a certain examination. How many
students are there in the class ?
(A) 33 (B) 30
(C) 32 (D) 31

The election system in which the candidate who

is ahead of others, who crosses the winning

post first of all, is the winner called in

(A) Dual party system

(B) Plufallty system s

(C) Indirect democracy g{;@l

(D) Direct democracy system =2

Malfunctioning of kidneys can lead to

accumulation of urea in blood, which is called as

(A) Lardosis (B) Uremia

(C) Dialysis (D) Uricomia

The device that can detect the presence of a

current in a circuit is

(A) Diode

(C) Resistor

In which among the cases police can arrest a

person without a warrant ?

(A) When his presence in the court is assured

(B) Any person commits a non-cognizable
offense

(C) Has committed an offense punishable with
imprisonment for a term lesser than 7 years

(D) Has committed an offense punishable with
imprisonment for a term more than 7 years

(B) Voltmeter
(D) Galvanometer
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16.  The International Military-Technical Forum

“"ARMY 2021" was inaugurated at
(A) Gurugram, Haryana

(B) Kubinka, Moscow

(C) Ratnaputra, Sabaragamuwa
(D) None of the above

17. Haryana has district jails.
(A) 16 (B) 13
(D) 14

{C) 15

18. The Viceroy who took initiative in creating

elected local government bodies
(A) Lord Harding

(B) Lord Litton

(C) Lord Warren Hastings

(D) Lord Rippon

19. The Council of Ministers is i)
collectively responsible to the B ‘{_;
b it I

20.

21.

22.

23.

X25

(A) Lok Sabha (B) RajyaSabha
(C) Prime Minister (D) None of the above

A is the smallest unit of data,
the computer can represent.
(A) Word (B) Bit
(C) Nibble (D) Tables
reacts violently with cold water.
(A) Magnesium (B) Mercury
(C) Calcium (D) Potassium
Section 159 of Code of Criminal Procedure,
1973 (Cr PC) empowers the Magistrate
(A) to order magisterial inquiry
(B) to restrain police investigation
(C) both (A) and (B)
(D) none of the above
The ratio between the length and the breadth of
rectangular park is 3 : 2. If a man cycling along

the boundary of the park at the speed of 12 km/hr
completes one round in 8 minutes, then the area

of the park (in sq. meters) is
(B) 307200
(D) 153600

(A) 15360
(C) 30720
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The total_number of Parliamentary seats in
aryana is
by (B) 12

(A)15
(C) 10 (D) None of the above

Cardiac muscle tissue is a contractile tissue
present only in
(A) Liver

(C) Pancreas

(B) Heart
(D) Kidney

In a first, India started the cultivation of

Asafoetida
(A) Cold Deserts of Himachal Pradesh
(B) Cold Deserts of Uttarakhand

(C) Cold Deserts of Ladakh

(D) None of the above

The Slatq Finger Print Bureay was founded in
Haryana in

(A) 1997 (B) 1972

(C) 1991 (D) 1975

What is the other name for bread mould 9

(A) Yeast (B) Penicillium

(C) Peziza

(D) Rhizopus

The members of USMCA (which replaced
NAFTA) are

(A) United States-Mexico-Canada
(B) United Kingdom-Mexico-Canada

(C) United States-M ongolia-Canada
(D) None of the above .

What is the maximum stren gthof the Lok Sabha
envisaged by the Constitution of India ?

(A) 544 (B) 545
(C) 552 (D) None of the above

+  The State tree of Haryana is

(A) Ficus Benghalensis (B) Ficus Religiosa
(C) Ficus Racemosa (D) None of the above

«In how many different ways can the letters of

the word ‘LEADING’ be arranged in such a
way that the vowels always come together ?
(A) 360 (B) 5040

© 720 (D) 480

Who among the fol lowing Indian wrestlers has

won the 1501b (68kg) FloWrestlin g invitational
meet in Austin, Texas ?

(A) Bajrang Punia  (B) Sakshi Malik
(C) Vinesh Phogat (D) None of the above
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Haryana Roadways Enginceri i
(HRECQ) is silualc{l at P g
(A) Sirsa (B) Gurugram

(C) Panchkula (D) Faridabad

Iil'l P is taller than Q but shorter than R, S is
shorter than R but taller than P and T is shorter
than R, then the tallest is

(AT (B) R

©€) Q (D) P

are the links to the

pages within your own website.

(A) Textlink

(B) External links

(C) Uniform Resource Locator (URL)
(D) Internal links

Which value replaces “?" in the following

figure ?
42 36 38
3 @ 15 3 @9 10 @20
6 9 19
(A) 1 @4
(C) 3 (D) 2 "

Which of the following cities in the Haryana will
be developed as a Smartest city ?

(A) Gurugram (B) Sirsa

(C) Sonipat (D) None of the above

In a right angled lrianéle, if the length of base
is 8 cm and height is

hypotenuse is
(A) 10 cm
(C) 2cm

(B) 14cm '
(D) 48cm  t .
____ gotthe title of Shamsul Ulé’lf?
in 1904 by the then British Govt.
(A) Banabhatta
(B) Balamukund Gupta
(C) Altaf Husain Hali
(D) Surdas
What is the population density of Haryana as
per census, 2011 ?
(A) 855 persons per sq. km
(B) 666 persons per sq. km
(C) 573 persons per sq. km
(D) 733 persons per sq. km

cm, then the length of

i
P
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Select the correct answer from the choices
given below to continue the series.

DILQTYBG?
(A) ] (B) O

(COH (D) I

19is related to 361 in the same way 21 is
related to
(A) 400
(C) 441

(B) 324

(D) None of these

Which of the following Agricultural Universities

of Haryana has developed the disease resistant

Pea variety HFP-1428 ?

(A) ICAR-National Dairy Research Institute,
Karnal

(B) Chaudhary Charan Singh Haryana
Agricultural University, Hisar

(C) Maharana Pratap Horticultural
University, Karnal

(D) None of the above

Sur Samman Award of Haryana is given in
which field ?
(A) Cinema
(C) Literature

(B) Sports
(D) Agriculture

Sections 39 and 40 of Code of
Criminal Procedure, 1973 (Cr PC)
make it mandatory to give information
regarding commission of certain
offences. Such information can be
given to

(A) local TV channel

(B) alawyer

(C) either to a Magistrate or to a police officer
(D) a police officer only

The positions of the first and second digits in
the number 94 3 1 6 8 7 5 are interchanged.
Similarly, the positions of the third and fourth
digits are interchanged and so on. Which of
the following will be the third to the left of
the seventh digit from the left end after the
rearrangement ?
(A) 4

© 6

(B) 1
(D) None of these

B SZCFES‘_S3
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Choose the correct option for x in the following
sequence.,

1,4,9, 16, x

(A) 25 (B) 20

(C) 18 (D) 22

Which type of reproduction seen in Hydra ?
(A) Budding (B) Fission

(C) Regeneration (D) Fragmentation
Select the related word from the given
alternatives.

West : North-East : :
(A) East

(C) North-West

South : ?
(B) North
(D) South-East

The difference between a two digit number
and the number obtained by interchanging the
positions of its digits is 36. What is the difference
between the two digits of that number ?

(A) 3 (B) cannot be determined

€ 9 (D) 4

Hdryana Police Academy (HPA)atMadhubanhas
been 1mpamng training to the IPS Probationers

of Haryana since
(A) 1999

(C) 1988

How many 9’s are there in the following number
series, which are immediately preceded by
3 and followed by 6 ?

39693939396363956956939639
(A) 2 (B) 3

) 4 (D) None of these
Glycosidic bond is formed by the process of
(A) Annotation (B) Dehydration

(C) Hydration (D) Rehydration

Database entries are called
(A) Form (B) Fields
(C) Records (D) Tables

Each table appears :
called pp as a spreadsheet grid

(B) 1966
(D) 1977

(A) Datasheet
(C) Record

(B) Queries
(D) Tables
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There are six persons A, B, C.D, [f'.ﬂml I}.(T T
{he sistef of I, B is the brother of I5's hll\ 3-"3‘
D is the father of Aand grandfather of I fhtft
are two fathers, three brothers and a mother n
the group. Who s the mother 7

(A B (B A
() B (D) D
When _ bits are grouped together as a
unit, they form a byte.
(A) 8 B) 5
() 6 (D) 4
]“F‘/g is equal to
log8
@ 3 (B) -
; V8
]
(€) 5 (D) 1
4

Which among the following has a larger’~ - -
refractive index ? OF.

(A) Diamond (B) Ice
(C) Ruby (D) Carbon
A is a column in a table that

contains a specific piece of information within
a record.
(A) Field
(C) Reports

(B) Datasheet
(D) Filter

The South range of Haryana Police do not
include which among the following districts ?
(A) Palwal (B) Rewari

(C) Jhajjar (D) Mahendragarh

Pointing to the woman in the picture Rajiv
said, “Her mother has only one grandchild
whose mother is my wife", How is the woman
in the picture related to Rajiv ?

(B) Sister

(D) Wife

(A) Data inadequate
(C) Cousin

Proteins with catalytic power are named as
(A) Acids (B) Enzymes
(C) Bases (D) Hormones
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)
i 20|
a
f:l‘rg célal?as Paramilitary battaljons
" y thle Centra] Overnment (hat are
ed the India Reserve Battalions,
(A) 3 (B) 1
©) 4 (D) 2
Pipes A ang B can f i
T€spective) et o hes 1

Y- Pipe C can €mpty it in 12 hrs, If
all the three Pipes are o ed togeth the
tank will be filleq o Pened together, then

(A) 4l pys (B) 113 g
- 17

© 32 y 8

) 3” IS (D) 3l : hrs
Punjab Police Rules were framed in
(A) 1966 (B) 1934
(C) 1954 (D) 1944

An electric iron of resistance 20 Q takes a
current of 5 A. The heat developed in 30 5 is

(B) 3.5x 103
(C) 1.5x10%) (D) 24x10')
The First Computer Center of
Haryana Police

came into existence
In the year 1979 a;
(A CK

andigarh

C) Faridabad
Six friends P, Q, R, S, T and
cluband play a different
Tennis, Basketball, B

(B) Gurugram
(D) Karnal

U are members of a
game of Football, Cricket,
adminton and Volleyball,
T who is taller than P and S plays Tennis. The

tallest among them plays Basketball, The shortest
among them plays Volleyball, Qand S neither play
Volleyball nor Basketball. R plays Volleyball, T is
between Q who plays Football and P in order of
height. Who among them plays Basketbal] 9

(A) U

B) S
(©).Q D) R
is an entire database list of
information,
EnA)orlI:’Telds (B) Form
(C) Table (D) Records

8 O'clock in the
many de s wil
the hout hand rotate when the clger sy Vill

clock sp
O’clock in the afternoon ? . Shows
(A) 180° ®) 144
(C) 168° (D) 150°
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: T fw-aifts ey
mfnﬁmﬁm# = 2 Rrd Shean o T
FEIA@TR 7

) 3 B) 1

(©) 4 Ry 2

B T ol oht HHA1: 5 3 652 & ay
m%ﬁm?aﬁ 1252 % wreft wwswan g |

& WA # e aw i 7

1 g B) 113
(A)45ﬂ% ()ll?

@) 38 @
17

(A) 0.4 x10') (B) 3.5%10%)

(D) 24x10')

m&@ﬁ%%?%ﬁﬁ% | AT F 2T 5y

> g8 Ry T w3
(A) 180°

: (B) 144°
(©) 168 ©) 1500
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.cultural Ministry of India recently
d a Memorandum of Understanding

h which of the following tech. giants
t in 100 villages of six states

The AE”
has signc
(MOU) wil :
for a pilot projec
0 pmmotc digital agriculture ?
(A) Google

(B) Microsoft

(€ Facebook
(D) None of the above

complete operating system that works on
a desktop computer, notebook computer or a
mobile computing device is called

operating system.
(A) Real time
(C) Stand-alone

(B) Server
(D) Mobile

Study the following arrangement of digits,
letters and symbols and answer the question

given below.
F14KB59#DR2#7MG%H
VT38*1JA

If all the symbols are dropped from the above
arrangement, which of the following will be
the third to the left of the seventh letter/number

from the right ?

(A) M (B) G

(C) D (D) R

Tolocate a web page using a browser, you need
1o type its in the browser’s address
or location bar.

(A) External link

(B) Hyperlink

(C) Internal link

(D) Uniform Resource Locator (URL)

+ The decomposition of vegetable matter into

compost is an example for
(A) Replacement reaction
(B) Redox reaction

(C) Endothermic reaction

(D) Exothermic reaction
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TR AN % g e 3 3 f
mﬁ“ﬁ%mqumm
(A) T

(B) WG

(C) HHTH

(D) I & | g el

T T AR fren 0 Sy s,
Frea FR N T Hrarder F IR R AW
¢ wHiafén frew e ¢ |
(A) Taer zm (B) welt

(C) Re-3¥eiH (D) Tamsat

a7, el ol fal & Fiefofea sraen &
ey e i A g ey @ swd |
F14KB59#DR2#TMG%HVT38*
1JA

IR I =rae @ ot ful A s R
7T, A o & @rad SHER/3 F A | dw
frfefaa & @ &m 7

(A) M (B) G

(©D (D) R

et SIS a1 ST e A S A
¥ ffu YR FISSR & @ A1 T KA
3IGF 2139 T & |

(A) el forh

(B)

(C) Fafe o

(D) g frat ehet (URL)

et e i v A fawed
T RE R |

(A) Wfereengd sl
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78. Acandoaworkin 15 days and B in
20 days. If they work on it together
for 4 days, then the fraction of the
work that is left is

8
A = B) 1
15 (B) 4
7
c) L D) -~
(©) = (D) v
79. Three positions of a die are given below.
5 3 5
3 5 4
6 < 2
Which number is opposite to 5 ?
(0%
PG (A) 4 (B) 2
EYEE (C) 3 (D) 1

80. The is a special dialog box consisting
of all the fields in table.

(A) Records (B) Data form

(C) Fields (D) Tables
81. Choose the one pair which does not belong to
the group.
(A) 22:46 (B) 1:4
(C) 10: 24 (D) 8:18

82. [E-Shram portal is a National database of

(A) Women workers

(B) Divyang workers

(C) Unorganised workers

(D) None of the above
83. The Agricultural produce in Haryana is being
regulated under
(A% Hgyima lAgricultural Produce Markets

, 197
(B) Kl.éltljti% é&lgricultural Produce Markets

© Rurtlj:i%agricultural Produce Markets

ct,
(D) None of the above
84. Choose the missing term.

BA,DC,FE,
(A) GH (B) HG
(C) IH (D) None of these

85. 24 carat gold is alloyed with either
or copper to make it hard which can be used to
make ornaments.
(A) Lead
(C) Zinc

(B) Silver
(D) Tin
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s 5ﬁﬁﬁﬁﬂaaﬁzoﬁﬁﬁiﬁt
e & v 3 4 o o % 1 36 A
8 @) L
(A) 15
7
(C) 5> (D) 15
ﬂ%@qﬁsﬁ?ﬁﬂfﬁrﬁma"mﬁl
D 3 5 3 a4
s |7 4 L2
- e sFaaE ?
(A) 4 (B) 2
(©) 3 (D) 1
o Foriry g e © o &
vt Fres i € | 5
(A) FaFTe (B) 31
(C) $ivs (D) 259
ﬁqmwﬂﬁﬁ@wﬁvﬁﬁwﬁmﬁ
=R
(A) 22:46 (B) 1:4
(C) 10: 24 (D) 8:18
foymude__ w Ch U ST R
(A) wften FdwaieT
(B) fe=arm wriewatadt
(C) rETiaa ufe .
(D) ITUF | & =g A&
efn 7 Y 3ust =t foraes qea fafafia o
MW

(A) BT SN 3eae e sifufm, 1971

(B) WS Y 3cs A srffem, 1981
(ORSIEE I RIS :ﬂﬁﬁgm, 1961

(D) 390 & S T

T & g |

2{%’ GH B) H

S B8
24 HH %l FER a9 % ferg arat

1 ts & T i R s @ St smymo E
F fore wam e st wsan & |

(A) Hram (B) =t

(C) s (D) ﬁﬁr
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88

89

90.

91.
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ol 1sle]

minute hand of a clock

h ich direction
30 p-M-» 4 (. Towards which direc
N'?![S wwartls I:i?lspoinl at 9:00 p.m. ?
PO hour and B) East
F:\c) Som?-Wesl (D) None of these
outh ol
(C) Sroup 50 people speak Hindi, 20 spci-l::
na8 nd’ 10 speak both Hindi and 'Ta{m ;
Tam!;;mber of people who speak Hindi or
then ™
i’ (B) 70
(2) 60 (D) None of these
iv]Jaichof thefo!!owingisexampleforunisexual
wer 7 ‘
ﬂ:) gunflower (B) Pi}Pfl}’d
©) Mustard (D) Hibiscus
f x meters of wire is d rupees, then
{-Eligf iiolflleocost of y meters of wire at the same
rate ?
NS 2';. (B) Tyd
© 3 'xa}: (D) T xd

How many women Hockey players from !—Iaryana
h::.re represented India in Tokyo Olympics 2020

Hockey tournament ?
(A) 12

(C) 6

Complete the following analogy.
Shoes : Leather : : Rubber : ?

(A) Chappal (B) Plastic
(C) Latex (D) Polythene

Due to which scheme, Haryana has become
the first State in India to implement the use of
injectable contraceptives as a family planning
measure ?

(A) Gramodaya

(B) Salamati Scheme

(C) Antyodaya Aahar Yojna

(D) Operation Muskan

(B) 9
(D) None of the above

Malaria is caused by

(A) Entamoeba
(C) Trypanosoma

(B) Plasmodium
(D) Paramoecium

Haryana cabinet has approved implementation

Of"R'egional Rapid Transport System (RRTS)”
Corridor between

((8 Rajafthan-Gumgra.m (B) Delhi — Panipat
Amritsar—Gurugram (D) None of the above
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G 3:30 79 T 9 i frpe

d 9:003@@@@2@1‘3“?!31 Eﬁfm% l
(A) Bfegor-ufeem (B) qd

(C) = (D) w7 & HE T

o g 7 5050 e A 4,
O R o 10 R st Ty
2 A 8, L3 T i e

it 71 afret sied €
(A) 80 (B) 70_
(C) 60 (D) 378 | I3 T
Frfefiaa § & A -a1 e I
FEE B 7
(A) (B) gt
(©) (D)
Ifs x Hiet a & dTTAT R, I RA
yﬁ%mﬁﬁgﬂm?

d
A) X ‘};— (B) Tyd
©) % ’% (D) % xd
sfamon 1 fra wfeen wh Raenfedt 2
Sreit 3 2020 % B gAHe H W
gttt R @ 7
(A) 12 B9
(C) 6 (D) IqUad # & HIg Tl
frefeifiaa goegar gof i | ahio
S LU RRRC EEde
(A) 99 (B) WAL
(C) wieFH D)
g T % o, et & fEn FEe
<y 3w 3 3 v 2 TR 3 T

(A) T e (B) Rt
(C) smE— T (D)
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Which of the following Amendment Acts
m_sgrtcd 'th.e “Fundamental Duties of the
Citizens” in the Indian Constitution 7 " |

(A) 42" Amendment Act B S
(B) 32™ Amendment Act .
(C) 62" Amendment Act

(D) None of the above

Which of the following statements hold true
for the Magistrate’s power to send an accused
to remand under Section 167 of the Code of
Criminal Procedure, 1973 ?

(A) If the investigation is not completed
within maximum period of 90 days the
accused have to be released :

(B) If the investigation is not completed within
60 days he has to be released on bail

(C) The maximum period of remand in
judicial custody cannot exceed 15 days,
after that only sending to police custody
is possible

(D) The maximum period of remand in police
custody cannot exceed 15 days, after that
only sending to judicial custody is possible

P,Q,R, S, T, Uand V are sitting on a bench
in a park and all are facing East. R is on the
immediate right of S. Q is at an extreme end
and has T as his neighbour. V is between T and
U. S is sitting third from the South end. Which
of the following pairs of people are sitting at
the extreme ends ?

(A) UQ (B) PQ

(© RQ (D) PT

Who among the following is known as Kalidas
of Haryana ?

(A) Pandit Bhatru Qutbi

(B) Deepchand Bahman

(C) Swami Hardev

(D) Kishan Lal Bhaat

Who is the ex-officio Chairman of the Rajya

Sabha ?
(A) The Vice President (B) The President

(C) The Prime Minister (D) None of the above
.If P is a brother of Q, M is a sisterof Q and T
is a brother of P, then how Q is related to T ?
(A) Datainsufficient (B) Brother
(C) Sister (D) Brother or sister
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Fafrad w7 aTufaas B Wy
qumﬁ*mmﬁaﬁ'aﬁmﬁa

oy T 7

* e AfafEd
(B) 32a1 9
(C) 62af &Y
(D) mzraﬂﬁ‘aﬁ'éqﬁ
2 g GfedT, 1973 &
At w1 fers NEEkT|

' # fo ?ﬁiﬁ:ﬁqmﬁ
D feraa # forre
. )%amﬁamamm

&) =ifares fecra ST ST & @

P.Q,R.S,T,Uaﬁwtamﬁ'ﬁﬁ@ﬁama%’%aﬂt
mﬂmg@qﬁﬁwzﬁaﬁt%m,s%aﬁmmﬂm
Qmaﬁnﬁtm%aﬂime@mh
v, T3 U % o= & | S <fdor st & et =
w A7 2 | e 1 A fea safaaEl o W e
i AT ® ?
(A) UQ (B) PQ
(C) RQ (D) PT
ﬁnmﬁﬁﬁfﬁaﬂawnmmmamﬁ?
(A) UfEa was st

(B) dlu=ig sgH

(C) @il gea
(D) forym Tt e
T T I HHTITT i gran @ ¢

(A) T (B) Trzafer

;(g T (D) ITEd T A S TE
P, Q%1 91§ 8, M, Q il & & 3 T, P

TSR, TMQ,TA Sy yFr galta & ?

(A) 3THS IR (B) WS

(C) &g - (D) WS 41 5[eH
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